TBi Industries
.a@

TYPF - Tt T o T ——— ey

; _ Anschluss /
L_Tn_:e e Gl R Connector
TBi 240 Expert Euro

Dusenstock / Tip holder

>IM6/L=26mm 342p006012
Gasverteiler / Gas diffusors @I
> Rot/Red 112p002019
_Schwarz / E‘fack' 112P002024
- Keramik / Ceramic - 112P002021
Stromddsen / Contact t:ps @_D
> M6x25,ECu ' 330p. _1073%
M6x25, CuCrZr 340P_ 30?3*
e e i o Yty —— ——r—
" M6x25 Alu,Ecu | 341p_ 1073%
M6x28, ECu 340P__1069*
 M6x28, CuCrzr T 1340P__3069*
M6x28 Alu, Er.u 341P_ 1069~
S e i T W —= R et e e |

Gasdusen / Gas nozzles
- — - - — - —-

— e S S U T e

1
Classic  TB1 240 Expert |

Kuhlarl / Belastbarkent |A]/ tinschalldaver /'  Draht.@ /
Cooling method Rating [A] Duly cycle Wire diam |
Mix (M21) CO72 (10 mmn ) {mm] J'.
- Gas/gas 210 220 60 % 0B-1.2 !1

Blegung [ _ Art, Nummer / i
Bend Part no. 3

50° 112P3210_0* ]

| ; 2
TBi 240 600P002018 1O
112P001013

00

-~ —— =
e R

375P000023

- @ Koaxkabel ProFlex M
Coaxial cable ProFlex M

o 3m: 361POM1130

4dm: 36 1POM 1140

5m: 361POM1150 =
Standard: @ 1.0 mm

:
NW 12.5 &
» 345P012012 GF
e — -
[ 1 NW 12.5 HD
NW 10 NW 17 NW17 345P012312 5
345P013012 345P011012 345P015012 -
NW 17 HD 375P000004 .
345P011312
| ESGkpl./ESG ¢pl. z
A s 700P001010 i
(Messing/ brass) 700P001075 600P102213 -
365P100040 100P00840 L 2 1017002005 g
| | 701P002091 i 375P000003 @ J. 1 l
B @ ﬁ | == U 2
D e T e o
Pl ) , , | b~
% gs"'ﬁ;f;uaég{hpen kpl. / Handle kit ,Expert’ cpl. Drahtfihrungen / Wire guides m ©@08-1.0 @1.0-1.2 o
OP N -
Drahtfuhrungsspirale far Stahldraht blau / blue rot / red |
Liner forsteel vire 3 324P154534  »324P204534 |
Jmm Yo 4  324P154544  »324P204544
| = 5  324P154554 B 324P204554 t
‘llj’l,—WDPSM 101 PTFE-Seele fur Alu- und Edelstahldraht blau / blue rot / red
“335%21015 PIFE liner for alu-and stainless steel wire 3 326p154035  326P204035
—t—5 - 4  326P154045 326P204045
%————335%21013 | | 5  326P1 514055 326P204055
PA-Seele mit Bronzespirale fur Aludraht anthrazit / anthragte
» Standard / Standard PA liner with bronze liner for alu Wwira 3 328P20403A —
*Bitt Leerstelle entsprechende Angaben far Brennerlinge oder
Drah?dﬂ:hmgssere e?rr':se?zen z B 08 fur 0.8 mm oder 3 fur 3m (0 e S 8 e e oL 2 328P20404A —

At the blank, please insert suitable information for torch length or
wire diametes, e.g. 08 for 0.8 mm or 3 for 3m

5 328P20405A -

*nﬂm:m ewzms

= S ] _._'___hﬂ = === i

e



